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Which of the following works is not included among the major compositions composed by
Mirabai ?

(A) Satbhama nu Rusunu (B) Mirabai ki Padavali
.Balajogan (D) Narsinh ra Mahyara
Which saint in Gujarat dedicated his life to the service of the leprosy sufferers ?
(A) Pujya Shri Mota .Saint Amar Devidas
(C) Saint Punit Maharaj (D) Shree Rang Avadhut

Which one of the following animals was not represented on the seals and terracotta art of the
Harappan culture ?

(A) Cow (B) Elephant
(C) Rhinoceros .Lion

Among the Gujarai films created from Gujarati literature, ‘Bhavani Bhavai’ is a film based on
which work and writer ?

(A) ‘Manavini Bhavai’ - Pannalal Patel (B) ‘Sapanama Ditha’ - Vrasha Adalaja
.‘Achhutno Vesh’ - Dhiruben Patel (D) ‘Dhartina Ami’ - Pitambar Patel
Which place in Kutch is famous for rogan-printing embroidery ?

(A) Dhaneti (B) Nakhatrana

@) nNirona (D) Hodaka

Which Organisation works for preservation and Research for ancient manuscripts and stone
inscriptions ?

(A) Shreyas Museum, Ahmedabad (B) Barton Museum, Bhavnagar
.Lalbhai Dalpatbhai Indology (D) Maharaja Fatehsinh Museum, Vadodara
Harshvardhana introduced Harsha Samvat in 606 AD on the occasion of —
.His ascedence to the the throne (B) Kannauj accession

(C) Sindh victory (D) Victory over Eastern India
Author of Nyaya Sutra was —

. Gautam (B) Kanad

(C) Kapil (D) Badarayan

“Anekantavada” is a core theory and philosophy of which one of the following?
(A) Buddhism .Jainism

(C) Sikkhism (D) Vaishnavism

Which British Governer General introduced postage stamp in india?

.Lord Dalhousie (B) Lord Auckland

(C) Lord Canning (D) Lord William Bantik

During the tenure of which chief minister of Gujarat for women “Abhayam Mahila Helpline
No. 181” was started ?

(A) Anandiben Patel @) Narendrabhai Modi
(O) Vijaybhai Rupani (D) Shankarsinh Vaghela
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012. Who suggested to Gandhiji to hold the ‘Dandi Yatra’ to Dandi instead of Badalpur?
.Kalyanji Mehta (B) Ghanshyam Birla
(O) Vitthalbhai Lallubhai Patel (D) Sardar Vallabhbhai Patel
013. Where is Shivarai (Shevaroy) Hills Located?
(A) Andhra Pradesh (B) Karnataka
(C) Kerala .Tamilnadu

014. Which of the following rivers doesn’t originate in India?

(A) Biyas (B) Chenab
(C) Ravi @) satyj
015. Which among the following is called a ‘Light House of Bhumadhya (Mediterranean) Sea’?
.Stromboli of Sicily (B) Italy’s Vesuvis
(C) Mount Pilly of The Western Island (D) Parcutin of Mexico

016. What are Aklara and Arosodia famous for ?

(A) Akiq (B) Woollastonite

(C) Dolomite Marble .Porcelain Clay
017. Which is the other tributories of Mahi river ?

(A) Panam (B) Mesari

(C) Galati & Anas .All of the Above
018. Which types of trees are found in the Mangroove Forests of Gujarat?

(A) Sundari (B) Oil Palm

.Cher (D) Kher

019. By which company micro-irrigation scheme under “Per Drop, More Crop” component in the
state on behalf of Government of Gujarat and central government is implemented ?

(A) Gujarat Water Users Irrigation Company
.Gujarat Green Revolution Company
(C) Gujarat Agro Industries Corporation
(D) Water and Sanitation Management Organization
020. Literacy rate in which of the following Union Territories as per 2011 census was the highest ?
(A) Chandigarh .Dadra Nagar Haveli Daman and Diu
(C) Puducherry (D) Lakshadweep
021. What is ‘EPZ’?
(A) Export Production Zone (B) Export Promotion Zone

.Export Proceesing Zone (D) Export Payment Zone
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Who is currently The Chief Executive Officer of ‘NITI AYOG’?
(A) Amitabh Kant .B.V.R. Subrahmanyam
(C) Arvind Panagariya (D) V.K. Saraswat

Which of the following acts is specially launched to facilitate Banks in recovery of bad loans?

(A) Banking Regulation Act (B) Companies Act
@)SARFAESI Act (D) RBI Act

What is called the interest rate at which RBI lends to Commercial Banks?
.Repo Rate (B) Reverse Repo Rate

(C) Bank Rate (D) Charging Rate

Which Scheme has been announced in the Budget of Gujarat for the year 2024-25 to improve
the nutrition of Pregnant and Lactating Mothers?

(A) Namo Lakshmi Yojana .Namo Shree Yojana

(C) Namo Saraswati Yojana (D) Namo Naree Vandana Yojana
Right to Education to all children between the age of 6 to 14 years is

(A) Included in the directive principles of state policy

. Fundamental Rights

(C) A Statutory Right

(D) None of the above

The Maximum Strength of Lok-Sabha as envisaged by the Constitution is

@552 (B) 555

(C) 550 (D) 543

Which of the following items comes under the concurrent list of the Indian Constitution?
@) 1rade Unions (B) Citizenship

(C) Local Government (D) Inter-state Rivers

The Authority to alter the boundaries of States in India rests with

(A) President (B) Prime Minister
.Parliament (D) State Government
Which is true for Finance Commission ?

(A) It is a Constitutional Body.

(B) It is Constituted under article 280 of the Constitution.

(C) Dr. Arvind Panagariya is Chairmain of 16" Finance Commission.

.All of the Above.
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Who has been appointed as the Solicitor General of India?

(A) K. K. Venugopal .Tushar Mehta

(C) Mukul Rohatagi (D) Ramaswamy Venakraman

In which part of the country the forests of sandalwood is found to the maximum?

(A) Hills of Assam (B) Hills of Shivalik

@ Hilis of Neelgiri (D) Hills of Satpuda

Which state has the largest number of seats reserved for scheduled tribes in the Lok sabha?
.Madhyapradesh (B) Uttarpradesh

(O) Gujarat (D) Bihar

According to which of the following articles under the Constitution of India, parliament has the
power to legislate on the subject of state list ?

(A) Article - 115 (B) Article - 226

(C) Article - 116 @A-rticle - 249

What is the full form ‘USB’?

(A) Unicode Smart Bus (B) Universal Structural Bus
.Universal Serial Bus (D) Universal Smart Bus
A programme written in a high leval language is referred to as

.The Source Code (B) Object Code

(C) Machine Code (D) Assembly Code

Dipa Karmakar is associated with which of the following sports ?

(A) Badminton . Gymnastics

(C) Tennis (D) Golf

The term ‘Time Trail’ is associated with which of the following sports ?
.Bicycle Racing (B) Swimming

(C) Shooting (D) Hockey

Which city has got the top position in the clean Ganga towns category in “Swachchh Survey
Awards 2023” ?

(A) Rishikesh (B) Haridwar
.Varanasi (D) Gupt Kashi

Which organization was recently awarded the ‘Subhash Chandra Bose Disaster Management
Award’-2024 ?

.60 Parachute Field Hospital, Uttarpradesh

(B) Odisha State Disaster Management Authority

(C) Gujarat Institute of Disaster Management

(D) Lunglei Fire Station, Mizoram

Recently the Hatti community of which state got scheduled caste status ?
(A) Odisha (B) Uttarakhand

(C) Jharkhand .Himachal Pradesh
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In the year 2024, which of the following Ayurvedacharya is awarded ‘Padmashree’ in the field
of medicine ?

(A) Jagadish Trivedi .Dayal Mavaji Paramar
(C) Tejas Patel (D) Yajhadi Italiya

Which indigenous assault rifle was recently launched by DRDO?

(A) ASMI @ uGcram

(C) SCORPION (D) INSAS

Which Union Territory has become the first Union Territory to implement the PM Vishvakarama
Scheme ?

(A) Chandigarh (B) Lakshadweep

.Jammu and Kashmir (D) Ladakh

Which state has the largest reserves of Lignite ?

(A) Maharashtra (B) Karanataka

(C) Andhra Pradesh .Tamilnadu

Who is considered as the father of India’s Nuclear Programme ?

(A) Homi Shethna (B) Raja Ramanna

.Dr. Homi Jahangir Bhabha (D) Shanti Swaroop Bhatanagar
In which Solar Observatory House (Vedhshala) The Multi Application Telescope is there ?
(A) Bangalore (B) Mount Abu

(C) Shree Harikota .Udaipur

Which of the following trees is believed an environmental hazard ?

(A) Neem (B) Chir Devadar
.Eucalyptus (Nilgiris) (D) Acacia (Baval)

What is the name of the Radar System used in India's Defense Shield System ?
(A) Green Pine System (B) Trinetra Radar System
.Sordﬁsh Radar System (D) Divya Chakshu

The Food and Drug Administration of America has approved to the world’s first vaccine for
‘CHIKANGUNIYA’. What is the name of approved vaccine ?

(A) Hib (B) DTaP
(C) Covishield @) 1xchiq

Two train tickets from city P to city Q and three tickets from city P to city R cost Rs. 95 but three
tickets from city P to city Q and two tickets from city P to city R cost Rs 90. What are the fares
for cities Q and R from P respectively?

(A) Rs. 15 and Rs. 23 (B) Rs. 14 and Rs. 24
@Rs. 16 and Rs. 21 (D) Rs. 15 and Rs. 21

Arun is celebrating his birthday today. In his next birthday, he will be twice his age that was 12
years ago. How old is Arun today?

(A) 26 Years (B) 24 Years
(C) 27 Years .25 Years
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053.

054.

05S.

056.

057.

058.

059.

060.

061.

AR 390 elsuui - cana, dlal 2 caugull 108 ol ysaami a9, dlal 211 Qid vid sllsuHL ¢l
25 e vl GlLSA Sl AHRI GUERL 8D A4 g vl HISAUL AU ALSAHL 8 Aol 52l uRu eliet 8., dlen
SULSAHIL S2¢L e 97

(A) 18 (B) 36

(C) 45 @54

-\

A, B, C-LUUR 5:3: 2 AL IRITIRHL 9. oA UAell AW A2AL AHALWIURHI A 5H 20%, 25% 241 30%
Al A4IRL HOL, dl A4l UouR-L Atdl ARl g s2l?

(A)122:11:39 (B)122:10: 8
@120:75: 52 (D) 120: 71: 59
5«1l A1 AR A5 AR 285 €9, ALl WIS xvuy 56 97

(A) 75 @100

(C) 120 (D) 90

6] 471 4vALril HCF 24l LCM 24154 4 241 80 9. %L 516 245 AvUl 244 5l 4 A1 €1, dl ~u-il v
24l

@16 (B) 32

(€) 12 (D) 20

204 [Aseunidll sul Radl xecoigdl sul ugl 2uda w50 410U vi-iagi?
24+6x3+3-1=14

@)+ 1 -+ (B) X A -

(C) x 21 + (D) — ¢ +

{121 26Eid dUEs 214 212yel suui disal.

LAges 2. awWdsiel 3. uASIRL 4. WsAS 5. gleusin
@4, 5,2,3,1 B)1,3,5,2,4
©)1,5,3,2,4 (D)4,2,3,5,1

g WA 6 [3al, 5 (3al 21 2 (Bl agmiqi 3 uzaRl 9. AlA-umiddl 5§ ad A%t 21 3 uari-l Gualal
s34 W) asig «ell?

A) 3 (B) 4 [3au
(©) 7 B @) 10 B

w[AA Al a1 @bl 9 % 6ioll 5d1L 25169, 2MA 611 5L GAL B % Ul 521 51 9. ool AR s2Al
2O 8. Al 28 slae?

@i (B) 6ol
(C) wa (D) u-ll

A 4 kmphll 33U Qag A3 53 O A 4 seus udl, B 3 A - [igell 24 o [Baumi 10 kmphll 33U
AUSE daadld A3 53 8. a3ia-i Bigall s2an vid usl B 31 A 12 ussal (6l caia 2aiisd) uiou)?

(A) 25.67 330 (B) 24.67 (34
(C) 23.67 (34 @)26.67 3+
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053.

054.

055.

056.

057.

058.

059.

060.

061.

In three coloured boxes — Red, Green and Blue, 108 balls are placed. There are twice as many
balls in the green and red boxes combined as there are in the blue box and twice as many in the
blue box as there are in the red box. How many balls are there in the green box?

(A) 18 (B) 36

(C) 45 @54

The salary of A, B, C are in the ratio of 5 : 3 : 2. If next year they get increment of 20%, 25% and
30% respectively in their salaries, then what will be the new ratio of their salaries?

(A)122:11:39 B)122:10:8

@)120:75:52 (D) 120 : 71 : 59

The sum of three consecutive multiples of 5 is 285. What is the largest number?
(A) 75 @100

(C) 120 (D) 90

The HCF and LCM of two positive numbers are 4 and 80 respectively. If one of the number is 4
more than other, find the smaller number.

@16 (B) 32

(O) 12 (D) 20

Which of the given option will make the given equation correct after interchanging the sign?
24+6%x3+3-1=14

@)+ and - (B) X and —

(C) x and + (D) — and +

Arrange the following words in logical and meaningful order.

1. Quadrilateral 2. Heptagon 3. Pentagon 4. Hexadecagon 5. Dodecagon
@)4,5.2,3,1 (B)1,3,5,2,4

0 1,5,3,2,4 D)4,2,3,5,1

Abdul has 3 stones of weight 6 kg, 5 kg and 2 kg. An object of which of the following weight
cannot be measured using these 3 stones on a weighing balance?

(A) 3 kg (B) 4 kg
(C) 7 kg @10 kg

Anil is taller than Sunny who is shorter than Baby. Anil is taller than Bose who is shorter than
Sunny. Baby is shorter than Anil. Who is shortest?

.Bose (B) Baby
(C) Anil (D) Sunny

A starts walking at 4 kmph and after 4 hours, B starts cycling from the same point as that of A,
in the same direction at 10 kmph. After how much distance from the starting point will B catch
up with A (correct to two decimal places)?

(A) 25.67 km (B) 24.67 km
(C) 23.67 km @)26.67 km
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062.

063.

064.

06S.

066.

067.

068.

069.

070.

ARL ALABALAL AU 98 €9, %L AR 24 629l ARlTR 2 : 3 €9 i 61l 1A Aol JeidR 5: 8 8,
dl 6l v 97

(A) 60 @30

(C) 20 (D) 34

4l 5 uRaue dous 1040 A 217 ugions 280 Al G114 UG gl 20aL] A W2 26 A
dond 21 14 A3 ugionSl s2dl audeu-l 32 usal?

@)soo (B) 364

(C) 1040 (D) 400

215 AL %4 1840 B. C. Wi 2L ell. dQl d-il DAl A5 ddluiol oL 25 915 a5, d-l Danl
uiAHL ML yarlal, 218 adala 2an 215 W 425 214 sul 39 N 9g 435 @i sdl, suB. C.
AN ey L sal?

@) 1660 (B) 2020

(C) 1680 (D) 2000

206 Ml 52[R-1, 5300, Wy, gd), A, Ag, Mld 211 s18a BriR drs Hut 530 s UlsaHi oA 9.
o33l el 5 5[ 2 s1oe 245 o sHAL UlBd- 2id oA, 3, ] 21 YL a2’ wRieR oA 9.
Bl 160l suogat Himt oL [l oiA 6. Al Mlladl el sugi 618l s2R-u-l gnell suy W vis %
A5 61 89, 316l el wiaHL 2214 519 A 97

(A) -l (B) Hiyl

@0 (D) %l

A x=vV12-9, 7=/11 = /8 27 7 =11 /8, dl NA-uniell 53 w1y €97
(A)z>x>y B)z>y>x

©C)y>x>z D)y>z>x

S XAl (B €2 adl 40 U a8 8, R 5132 Y -l [Bud €2 adl 15 W ad 6. o 2001 i,
SHRA X AL [BHd 3. 4.20 1 Y L d 3. 6.30 e, s adui SIHIRE XL Bud S1MURA Y 5241 40 U
ay sal?

(A) 2010 @201

(C) 2012 (D) 2013

SADMIT’ 2661 635 B HOUARUAL SHHUL UsUAAL €9, % 248121 31612l 6llo €9 24 3 il ollon €9
d a2l YougRi-l siellui 5241 w18l 97

(A) 10 B)6

©s (D) 9

oA Jwudl, Bl uHls8U 2x — y + 5 = 0 - px + 3y = 4 Aisolloand doizu siddl p Hl Bud iyl
(A) 1/2 @):2

(C) 2/3 D) 1

n GULSAHL m UL 8. L HUUBL €35 GULSUML 3 SV Y2 dl 3 SUIL AUIR 2. A UL €35 GlLSUML 4 sUll
YA dl 1 6ll5U AR U3, ollsu i sUll-) vt 204l?

(A)3219 (B) 6 241 19
@7 > 24 (D) 51 18
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062.

063.

064.

065.

066.

067.

068.

069.

070.

The sum of three numbers is 98. If the ratio of the first to the second is 2 : 3 and that of the
second to the third is 5 : 8, then the second number is:

(A) 60 @30

©) 20 (D) 34

Find how many tiles of dimensions length 26 ¢cm and breadth 14 cm will be required to cover a
rectangular godown floor of dimensions length 1040 cm and breadth 280 ¢cm?

@)soo (B) 364
(C) 1040 (D) 400
A yogi was born in 1840 B. C. He had lived one-third of his life as a boy, one-fifth of his life as a

youth, one-fourth of his life as a man and remaining 39 years as an old man, which B. C. year did
he die?

@) 1660 (B) 2020

(C) 1680 (D) 2000

Eight friends Katrina, Kareena, Madhuri, Juhi, Rani, Aish, Preeti, and Kajol sit in a row facing
north. Kareena and Kajol sit at the end of the row not necessarily in the same order. Aish sits
exactly between Juhi and Madhuri. Only two friends sit to the left of Aish. Rani sits to the

immediate right of Preeti. Only one person sits to the right of Katrina. Who sits fifth from the
left?

(A) Rani (B) Madhuri

.Preeti (D) Juhi

If x=112-9, y=+13-10 and ;=./11 /8, then which of the following is true?
.z>x>y B)z>y>x

O y>x>z D)y>z>x

The price of commodity X increases by 40 paise every year, while the price of
commodity Y increases by 15 paise every year. If in 2001, the price of commodity X was
Rs. 4.20 and that of Y was Rs. 6.30, in which year commodity X will cost 40 paise more than the
commodity Y?

(A) 2010 @)2011
(€) 2012 (D) 2013

Each of the letters in the word ‘ADMIT’ is arranged in alphabetical order. How many letters are
there in the alphabetical series between the letters which is second from the left and the one
which is second from the right?

(A) 10 (B) 6

©s D)9

Find the value of p if the lines, whose equations are 2x — y + 5 = 0 and px + 3y = 4 are
perpendicular to each other.

(A) 1/2 @):2
(©)2/3 D) 1

There are n boxes and m fruits. If we put 3 fruits in each box 3 fruits will be excess. If we put 4
fruits in each box 1 box will be excess. Find number of boxes and fruits ?

(A)3and 9 (B) 6 and 19
@7 ana 24 (D) 5 and 18
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071.

072.

073.

074.

07s.

076.

077.

078.

079.

080.

25 (G140, AlviL 75 Yul A8 150 cuosid wasidl a5 6. o 100 cunsiz dio Iy Sy, dl seal
Y3ul oSl Al 08 ®iogeL 5907

(A) 15 @):s
(C) 50 D) 75
A 2 B o vl 922121020 €9, B 21 Cl 19 211 C 211 Al u32 21 8. A ) Bua g ©97?
(A) 24 @)::
(C) 20 (D) 18
130 {2 y2s sl sil2sia g 972

(A) 50 (B) 30
@)+0 (D) 70
AP 1 65 21 174 UE 25U 19 11 41 8, 40+l ue all?
(A) 60 (B) 88
@)s7 (D) 89

AL FUGLT g @dudardl AeuaHl x/12 8, o WAL BTG AgHL A s AMA 2/3 6 dl
x l (BHd ) 8?

(A)2 (B)3
©- D)5
x 214 30 o Hlof urRL ML, BAR 45: 125275 x.
@45 (B) 75
(©) 12 (D) 30

puR 518 2EsA 3.800 Hi dAUHL 2Ud QU WAL 51, FUR A 3.275 HI dAUHE 20 AR Ad)
A5AAL 20 28U 6. % 25% 15l ANl 2491 1A dl - suL ¢id dad) AS A,

@375 (B) 475

(C) 300 (D) 500

Hed A -l 254 524l 89 oA 3. 860 < 2 arl w2 2 U Uld H8A A5 s 204 €97
(A) 3.1227.80 (B) 3. 1722.80

@):. 1272.80 (D) 3. 1722

AUS5A 5133 HNHL COBTAIN’A ‘NATBOD 341 ‘BEGGER’H ‘RGGEBE’ d3ls @i 2ud 9. d
ML ‘RUGGED? 5d) Ald avual?

(A) DGUGRE (B) DGGUER
(C) GGURED @)DGGURE
sUl usoiy Al Hyovid Aoin sald 97

(A) 0.23 @)-o0.98

(C) 0.89 (D) 0.54
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071.

072.

073.

074.

075.

076.

077.

078.

079.

080.

In a camp, the rice can feed 75 men or 150 children. If 100 children have taken the meal, how
many men will be catered with remaining rice?

(A) 15 @25
(C) 50 (D) 75

The average of two numbers A and B is 20, that of B and C is 19 and C and A is 21. What is the
value of A?

(A) 24 @)::

©) 20 (D) 18

The complimentary angle of supplementary angle of 130 degree is?

(A) 50 B) 30

@40 (D) 70

The 6th and 17th term of an A. P are 19 and 41 respectively, find the 40th term?
(A) 60 (B) 88

@)s7 (D) 89

Probability of guessing correct answer is x/12, if the probability of not guessing correct answer
is 2/3 what is the value of x?

(A)2 B)3

©- D)5

Find the third proportion of x and 30, when 45 : 12 :: 75 : x.
@45 (B) 75

©) 12 (D) 30

The profit earned when an article is sold for Rs. 800 is 20 times the loss incurred when it is sold
for Rs. 275. At what price should the article be sold if it is desired to make a profit of 25%.

@375 (B) 475
(C) 300 (D) 500

What will be the amount of principal and interest if Rs. 860 is invested for 2 years at 2 paise per
rupee per month?

(A) Rs. 1227.80 (B) Rs. 1722.80
@rs. 1272.80 (D) Rs. 1722

In a certain coded language ‘OBTAIN’ is written as ‘NATBOI’ and ‘BEGGER’ is written as
‘RGGEBE’. How will ‘RUGGED’ be written in that language?

(A) DGUGRE (B) DGGUER
(C) GGURED @)DGGURE
Which correlation represents the strongest relationship?
(A) 0.23 @)-0.98
(©)0.89 (D) 0.54
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081. o1l 2nsell Rll Slu dal [Aseu uzie 53U,
@) ABs, Hyxg, AR, Grlyq (B) Gecoual, Ay-lel), woga, [Alan
(C) Brecl€dt, agm, [25le, Ml (D) yuel, stia, [uRd, :aculas
082. 1A 2utien opu 2uA A un-udl woel (A wiou [Aseu urie 52U,
1. dol, AMAR, ddalR, AR
2. 4@, Gl e, 52
3. x[3Un, $514, WHR, 35
4. 2ul5, s, 2143, Q-
(A) S5 1 241 2 4IdY 89, (B) $5d. 3 A 4 Al2U 69,
(C) 85 1,2 41 4 42U B, @s5 121 4 00u B,
083. -l 2uden oga A af [Azgell avel (A9l ulou [Asey uzie s3u.
1 UUHS X NALRUHS 2. xS x x5 3. 20l xeidlsn 4. Geaurt x Yrigeunt
(A) $5d 1 40U 9. @552 00u 8.
(C) $5d 2 2 4 WdY 89, (D) $5d 1 24 3 WY 69,

084. 113 vuden 3(Enulor 241 d- 249 112 ulou [Aseu uaie s3U.

3naia 22
1. 531 Gleu 284 -  GuBeuwq
2. Wi euoll g —  aH dHelag
.ol 0l snadl —  u-igli wrell odl
4. s awndl - nsslsRg
(A) S5 1 241 4 IdY 89, (B) $5d2 A 3 Ul 69,
@553 v quioud, (D) 1,2, 3 2171 4 6181 % 41U 8,

085. -l Ul sSadid uA @S d-u (a9l =i [Asey vrie s
1. AW AN A 52 52U
2. dlew asni 3L aLs
3. MY iyl WLl M
4. %9 Sl e g g U Ay
@)1 211 4 A3l s8adl 8, 2 241 3 u-uell s8adl 8.
(B) 1 241 2 uHi-ul s8adl 8, 2 1 4 [Axgiell s8adi .
(C) 1 31 4 el s8adl 8, 1 241 3 [ax gl s8adl 8.
(D) 1 21 3 au-nell s8adl 8, 1 241 2 [y gl s8adl 8.
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086. 1A 2nual HUAS A6e 2 d-u s (A9 wloy [Asey uRie 3.

arulas woe SR
1. Wu3dls - GBuug
2.l —  ugdll’
3. slEsuL - s{aRy
4.3qMAsUl — AN
(A) S5 1 24 4 4IdY 89, (B) $5d2 A 3 Ul 69,
(C) 543 A 4 412 69, @)1, 2, 3 x4 g ulou B,

087. -l 2uucl A8 (gl w2l [Aseu vrie sl
Lod: +du= ddiu 2.5 +2=g2 3.[u+gr=[RAg 4. uu:+o=uly
(A) S5 1 21 2 1 89, (B) $5d 3 i 4 AL 89,
@)1, 2,3 x40y . (D) 1,2, 3 A 4 6141 % viieL 9.
088. Il 2udcll weSRAA BE1s0L LA A drll usI-l Uiy [Asey uie 530,
‘12 [Ad il UL 2 dld, 8y 8Hd sdl8a R’
LGuUWL 2 vicuquin 3.345 4. aaiduA
(A) 55 1 24 2 4oy 8. @553 v 4 a0 8.
(C) $5d 1,3 211 4 A12U 89, (D) 1,2, 3 21 4 6181 9 42U €9,

089.  ¢9elL UsIR i Gerge (AN 12 U 5y / su1 A [ Al iy /Al &9 ?

¢ Gewsr@L
1. ¥l — sl oedd A uaud qaai dun A2 ?
2. BELw — [Rui i st gl @l d o, d o § ave old
3. U043 — d i s51e asnq Al dlai @K,
4. S — AR Yol A AN AR, Y3l G313 A,
(A) $5d 1 2 4 10 89, (B) $5d 1 11 3 101 69,
(C) 52 a3 W, @)1, 2,3 x4 sy B,

090. -2 [Aordid tud @ dloy [Aseu yie s
(A) deyn uH: Ailds:
(B) YA + ueu = yAuLu
@) ciol 5e: 5l vin a4 cud i), Y4 ol @i, 24 we ondl.

(D) ADARIULL HA$1R: s[Acirsiopr-l d ol ugal sautie.
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091. On

.a / the

(C) A/ No article

cold December evening,

telephone kept ringing in my office.
(B) No article / No article

(D) No article / the

092. My younger brother is accustomed sleeping in total darkness.
(A) by (B) with
.to (D) from
093. He hardly stays back at home on weekends, ? (Select the correct question tag)
(A) doesn’t he? .does he?
(C) aren’t he? (D) Isn’t he?
094. It that, by tomorrow evening, the amount of donations twice as much as it is
now.
(A) appeared / will have risen (B) appears / would have been rising
(C) appeared / would have been rising .appears / will have risen
095. The officers were planning the meeting, but the representatives were not willing
the discussion.
(A) Have postponed / to have stopped .to postpone / to stop
(C) postponing / stopped (D) to postpone / stopping
096. The money in our pocket far less today than it ten years ago.
.could buy / would (B) can buy / had
(C) should buy / had (D) might buy / should
097. We saw beautiful scenery on the way to Jaipur.
(A) too much (B) a few
(C) a little of .some
098. Is he not working? (Change the voice)
(A) The work is not being done by him. (B) The work is not done by him.
.Is the work not being done by him? (D) Has the work not done by him?
099. Very few fruits are as as mangoes.
.tasty (B) tastier
(C) tastiest (D) most tasty
100. They were sitting the pool, talking about the

(A) beside / whether

(C) besides / wither

(B) besides / weather

.beside / weather
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101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

112.

113.

The point just vertically below the observers’ position in a celestial sphere is called:

(A) Celestial point .Nadir
(C) Zenith (D) Pole

The minimum numbers of satellite needed for GPS to determine its position precisely is:

(A)2 ®:

O 4 (D) 24

Pick up the correct statement regarding the electromagnetic spectrum:
.Visible region 0.4pm-0.7 pm (B) IR region 0.7pum-80 pm
(C) UV region 0.3um-0.4 pm (D) Micro wave region 1-200 cm
The discontinuity between crust and mantle is known as:
.Mohorovicic Discontinuity (B) Conard Discontinuity
(C) Repetti Discontinuity (D) Lehmann Discontinuity
The name of the layer of the Earth that separates the crust from the core is the:
(A) Magma (B) Lithosphere

(C) Asthenosphere .Mantle

Dip of a bed is a vector quantity because it has got:

(A) Direction. (B) Magnitude.
.Direction and magnitude. (D) None of these.

The plunge and pitch are equal when the beds are:

(A) Horizontal. (B) Inclined.

(C) Inclined at 45°. .Vertical.

The dip of a horizontal bed striking E-W is measured in the:

(A) Horizontal Plane .Vertical Plane

(C) Axial Plane (D) Inclined Plane

The behavior of perfectly elastic bodies is governed by:

.Hooke’s law (B) Hilt’s Law

(C) Lambert’s Law (D) Bede’s Law

Which of the following mineral has highest specific gravity?
.Wolframite (B) Pyrite

(C) Magnetite (D) Hematite

Which of the following minerals is isotropic under the microscope?
.Garnet (B) Plagioclase

(C) Biotite (D) Quartz

Which of the following accessory plates is used to obtain interference figures?
.Gypsum Plate (B) Bertrand Lense

(C) Mica Plate (D) Quartz Wedge

Ilmenite crystalizes in which crystal system?

(A) Orthorhombic (B) Tetragonal

(C) Monoclinic .Hexagonal
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114.

115.

116.

119.

120.

121.

122.

123.

124.

125.

The type of sandstone where cementing material is clay is:

(A) Siliceous sandstone (B) Calcareous sandstone
.Argillaceous sandstone (D) Ferruginous sandstone
The term orthoquartzite is associated with which type of sandstone?
.Quartz Arenite (B) Calcareous sandstone
(C) Argillaceous sandstone (D) Ferruginous sandstone

Which of the following lists is written in order of decreasing particle size?

(A) Sandstone, siltstone, conglomerate .Conglomerate, sandstone, siltstone

(C) Sandstone, conglomerate, siltstone (D) Siltstone, sandstone, conglomerate

Which of the following sedimentary environments is characterized by sand, gravel and mud?
(A) Active margin beach .Glacial

(C) Alluvial fans (D) Deep marine

Which of the following sandstone types is most likely to form by the mechanical weathering of
granite?

(A) Quartz arenite .Arkose
(C) Shale (D) Litharenite

When fine-grained sediments at the bottom of shallow water are exposed to air, they dry out to
form structures known as:

(A) Ripple cracks (B) Water marks

(C) Ripple marks @) Mud cracks

In which of the following sedimentary environments would you least expect to find gravel?
(A) Active margin beach (B) Alluvial fans

(O) Glacial .Deep marine

Fossil contents of intestine or excreta of many ancient animals:

(A) Gastrolith .Coprolites

(C) Otholiths (D) Ammonites

Which form of the graptolites is well known during upper Cambrian age?

(A) Tetragraptus (B) Clonograptus

(C) Bryograptus .All the above

One of the plate of the apical disc in an echinoid shell is perforated, this plate is known as:
(A) Ocular plates (B) Genital plate

.Med reproach plate (D) Ambulacra plate

The Cephalopods are water animal.

.Marine (B) Terrestrial

(C) Fresh (D) Brackish

The rock salt may be formed by:

.Continued evaporation (B) Erosion

(C) Wind (D) Continued precipitation
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126. Arrange the following granitoids bodies in order of their decreasing age.
P. Erinpura Granite
Q. Closepet Granite
R. Singhbhum Granite
S. Ladakh Granitoids

(A)R-P-R-S B)S-Q-R-P
@r-Q-r-s (D)Q-R-S-P
127. Which of the following formation(s) was/were deposited in glacial and/or fluvial environment?
(A) Subathu Formation (B) Indus Formation
.Karewa Formation (D) None of these
128. Which of the following is the youngest?
(A) Muth Quartzite (B) Lameta Beds
(C) Golden Oolite .Karewas
129. Glossopteris is a plant fossil known from the rocks of:
(A) Upper Gondwana (B) Middle Gondwana
.Lower Gondwana (D) Rajmahal
130. Which Group belongs to Cuddapah Basin
(A) Semri Group .Cheyair Group
(C) Pakhal Group (D) Kolhan Group
131. Corals prefer to grow in:
(A) Polar ocean (B) Cool Subtropical ocean
(C) Stagnant water .Tropical water
132. Syringothyris is characteristic fossils of:
(A) Silurian (B) Ordovician
.Carboniferous (D) Cambrian
133. Which of the following transition element is incompatible in basalt?
(A) Chromium (B) Vanadium
(C) Manganese .Titanium
134. Dacite is a volcanic equivalent of:
(A) Syenite (B) Lherzolite
(C) Gabbro . Granodiorite

135. Rocks derived from the primary basaltic magma are characterized by:
.Occurrence of olivine and clinopyroxene (B) Absence of olivine and feldspathoid
(C) Presence of clinopyroxene and quartz (D) Presence of feldspar and quartz

136. Where are the volcanic rocks formed?

(A) Under the surface of earth .On the surface of earth
(C) Inside the core (D) Between mantle
137. Spinifex texture present in
(A) Kimberlite @) Komatiite
(C) Gabbro (D) Andesite
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138. Which of the following pair of rock and eruptive setting is correctly matched?
.Schoshonite — Active continental margin (B) Carbonatite — Ocean island
(C) Boninite — Mid oceanic ridge (D) Trachyte — Ocean-continent collision
139. Igneous rocks with lowest content of silica are known as
(A) Mafic rocks (B) Felsic rocks
(C) Porphyry .Ultramaﬁc rocks
140. Metasomatism is:
.The change in the bulk composition of a rock during metamorphism
(B) Metamorphism caused by nearby intrusions
(C) Metamorphism caused by tectonic movements along faults
(D) The parallel alignment of minerals in a metamorphic rock

141. Which of the following sets is arranged in order of increasing metamorphic grade?

.Shale - slate - phyllite (B) Phyllite - gneiss - schist
(C) Phyllite - slate - schist (D) Schist - shale — gneiss
142. Which of the following metamorphic rocks forms in the forearc of a subduction zone?
(A) Amphibolite @) Bueschist
(C) Quartzite (D) Gneiss
143. Which of the following index minerals forms at the highest metamorphic grade?
(A) Chlorite B Sillmanite
(C) Biotite (D) Garnet

144. Which of the following metamorphic facies represent rocks that were metamorphosed under
the highest pressure conditions recognized by geologists?

@ Eclogite (B) Amphibolite

(C) Greenschist (D) Granulite
145. Isotherms are curves or surfaces of equal

(A) Composition (B) Volume

(C) Pressure .Temperature
146. Typical platy minerals defining a foliation include.

(A) Chlorite .Muscovite

(C) Pyroxene (D) Hornblende
147. Which of these rocks could be an important source of diamonds?

(A) Komatiite (B) Gabbro

(C) Eclogite .Kimberlite
148. Chromite deposits are associated with rocks:

(A) Pigmatitic (B) Felsic

.Ultramafic (D) Leucocratic

149. Epigenetic deposits are formed:
(A) At the time deposits are formation of host rock
.After the formation of the host rock
(C) Both of the above
(D) None of the above
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150.

151.

152.

153.

154.

155.

156.

157.

158.

159.

160.

161.

Layered igneous rocks could be good sites for the mineralization of:
(A) Gold (B) Tungsten
.Chromite (D) Diamonds

What type of metamorphism is caused by high temperature and high pressure imposed over a
large volume of crust.

(A) Burial (B) Contact

.Regional (D) Cataclastic

Which of the following processes will cause metamorphism?

(A) A change in the chemical environment (B) An increase in temperature
(C) An increase in pressure .All of these

The mineral assemblage of Khondalite is:

(A) Plagioclase - garnet - hypersthene - quartz schist

(B) Plagioclase - hypersthene - diopside - garnet schist

(C) Quartz - perthite - hypersthene - garnet schist

.Garnet - sillimanite - graphite schist

Which element % is used to check groundwater for irrigation purpose is:

(A) Ca% @~av

(O) K% (D) Fe%

A relatively impermeable formation neither containing nor transmitting water:
(A) Artesian Aquifer (B) Perched Aquifer

@ Aquifuse (D) Both (A) & (B)

When the piezometric surfaces lie above the groundwater surface, which of the following type
of well result?

(A) Ordinary Well (B) Well which have no water?

(C) Drawdown well .Flowing Well

In flat terrain, underground water basin is artificially charged by method.
(A) Basin (B) Ditch or Furrow

.Flooding (D) Natural channel

Water saturated unconsolidated sediments shows in Seismic velocity.

(A) Increase .Decrease

(C) No effect (D) Sometimes increases & sometime decreases
Water with hardness of (CaCO; ppm) is soft water.

(A) >200 ppm (B) >150 ppm

(C) <150 ppm .<75 pPpm

Specific Yield will decrease:

(A) With depth (B) With grain size

(C) With shape ) all of the above

The unit of the intrinsic permeability is:

.m2 (B) m/sec

(C) m/sec? (D) unit less
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162. Hydraulic Conductivity can be determined by .
(A) Tracer test (B) Auger hole test
(C) Pumping test of Wells ) All of the above

163. A map which shows the surface contours of an imaginary surface to which water would rise in
drilled well is termed as:

(A) GW map (B) Water contour map
.Piezometric map (D) Water table map
164. The field capacity of any soil in any depends upon:
(A) Storage Coefficient .Porosity of soil
(C) Hygroscopic co-efficient (D) None of above
165. The cleavage angle in pyroxene is:
@)93 and 87 (B) 124 and 90
(C) 90 and 90 (D) none of these
166. Which will be the correct sequence in order of increasing specific yield?
(A) Sand-gravel-clay (B) Silt-gravel-clay
@) Clay-sand-gravel (D) None of the above
167. Which logging techniques are used to determine permeability is:
.Long normal resistivity logs (B) Resistivity logs
(C) Gamma-gamma logs (D) Calibrated neutron logs
168. Which of the following process is not a part of water cycle?
(A) Transpiration . Sedimentation
(C) Precipitation (D) Condensation
169. The exploitable groundwater reserves of India are estimated between
(A) 74-80 million hectares/year (B) 12-18 miillion hectares/year
.42-48 million hectares/year (D) >100 million hectares/year

170. Black soil is typical soils of:
.The major part of Gujarat and Maharashtra
(B) Rajasthan
(C) Utter Pradesh
(D) None of the above

171. The type of mass movement characterized by a slow and gradual down slope movement is known

as:
I Creep (B) Rockfill
(C) Landslide (D) Mud flow
172. The word Tsunami has been derived from:
(A) French word (B) Latin word
.Japanese word (D) Greek word
173. Factor which promotes landslide
(A) Air, Fracture, porosity (B) Rock type, texture, composition
.Water, Slope, Nature of rock (D) None of the above
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174.

175.

176.

177.

178.

179.

180.

181.

182.

183.

184.

What is active volcano?

(A) Which show eruption after long time
.Which erupt very often

(C) Which not show eruption since very long
(D) None of the above

Which one of the following is a geological disaster?

.Tsunami (B) Storm surge
(C) Flood (D) Wild fire

A place where an earthquake originates is called....

.Focus (B) Tsunami
(C) Fault line (D) Epicenter

What causes tsunami:

(A) Sudden vertical movement of the Earth

(B) Convergence of destructive plates in the ocean floor

(C) Explosive volcanic eruptions in the sea/ocean

.All of the above

A solid barrier constructed at a suitable location across a river valley to impound water is called:

(A) Reservoir .Dam

(C) Bridge (D) Retaining wall

Which type of dam usually has a triangular profile and can resist the forces by its own weight?
.Gravity dam (B) Arch dam

(C) Geotechnical dam (D) Embankment dam

Which is the longest dam in India?

@ Hirakud dam (B) Bhakra dam

(C) Krishnarajasagar dam (D) Nagarjun sagar dam

What is the maximum force expressed per unit area, which a stone can withstand without
rupturing?

(A) Shear strength (B) Tensile strength

.Compressive strength (D) Bending strength

Ratio between the total volume of the rock pore spaces and the total volume of the rock sample
is called:

(A) Void ratio .Porosity

(C) Pores ratio (D) Bulk density

The Void ratio is:

(A) Ratio between mass of voids to the volume of soil particles in a given soil mass
(B) Ratio between volume of voids to the weight of soil particles in a given volume
.Ratio between volume of voids to the volume of soil particles in a given soil mass
(D) None of the above

The underground routes or passages driven through the ground without disturbing overlying
soil cover are called:

(A) Bridges (B) Passages
.Tunnels (D) Sub-routes
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185.

Underground excavations for carrying pipes, sewage etc. fall under which type?

(A) Traffic tunnels (B) Hydropower tunnels
.Public utility tunnels (D) Delivery tunnels
186. Arch dams suitable in?
.Narrow valley (B) Wide valley
(C) Deep and wide valley (D) None of the above
187. Limestone can be used with caution in constraction as:
(A) show fracture (B) show layering
.show solution cavity (D) show fine grain size
188. The water which in a state of downward movement under gravity is:
(A) Groundwater .Vadose water
(C) Connate water (D) Juvenile water
189. What is the process of movement downwards of vadose water called?
.Infiltration (B) Filtration
(C) Deposition (D) Down-flow
190. What is the water obtained from precipitation called?
.Meteoric water (B) Connate water
(C) Juvenile water (D) Secondary water
191. Water present in rocks from the time of their deposition is:
(A) Meteoric water .Connate water
(C) Juvenile water (D) Secondary water
192. Which zone is a zone of non-saturation among vadose water?
(A) Soil water .Intermediate water
(C) Phreatic water (D) Water table
193. The rock mass which is capable of yielding the contained water economically:
@) Aquifer (B) Aquiclude
(C) Aquifuge (D) Aquitard
194. Which among the following is not an example of the good aquifer?
.Granite (B) Gravels
(C) Limestones (D) Sandstones
195. The formation which may be porous enough to hold enough quantity of water is:
(A) Aquifer @) Aquiclude
(C) Aquifuge (D) Aquitard
196. Which rock formation is absolutely impermeable?
(A) Aquifer (B) Aquiclude
.Aquifuge (D) Aquitard
197. Granite and quartzite are examples of:
(A) Aquifer (B) Aquiclude
.Aquifuge (D) Aquitard
198. Which aquifer is called water table aquifer?
.Unconﬁned aquifer (B) Confined aquifer
(C) Ground aquifer (D) Connate aquifer
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199.

200.

201.

202.

203.

204.

205.

206.

207.

208.

209.

210.

211.

What is the pressure of upper surface of unconfined aquifer?
(A) Very high pressure (B) Lower than atmospheric pressure
.Equal to atmospheric pressure (D) Greater than atmospheric pressure

What is the upper surface of water in a confined aquifer called?

(A) Primary layer (B) Secondary layer

(C) First layer .Peizometric layer

What is the speciality of the Artesian Water?

(A) Has a characteristic colour (B) Has a characteristic odour
.Requires no pumping (D) Requires special type of pumping
Storage capacity of a reservoir depends on:

(A) Porosity of rocks (B) Inter-connections

(O) Quality of solidity of rocks .Porosity and inter-connections
What is the quantity of water that a unit volume of aquifer drains by gravity called?
(A) Porous volume (B) Water yield

.Speciﬁc yield (D) Unit yield

Which sedimentary rock is told to be the best kind of formation for groundwater?
(A) Sandstone (B) Shale

.Gravel (D) Limestone

The porosity range good for petroleum:

(A) 50 to 75% (B) 20 to 50%

(C) 10 to 40% @15 t0 20%

The igneous rock basic in nature and formed by rapid cooling is:

(A) Granite @) Basait

(C) Gabbro (D) Dolomite

When can a surface become porous and permeable or water bearing?

(A) Weathered (B) Weathered and wet
.Weathered and disintegrated (D) Disintegrated and wet

Which of the following doesn’t control aquifer behaviour?

.Wind conditions (B) Nature of the rock

(C) Structural disposition (D) Climate conditions like precipitation
An aquifer can hold water and the state of water is .

(A) Permanently — State of flow .Temporarily — State of flow

(C) Permanent — State of stagnancy (D) Temporary — State of stagnancy

When an aquifer is used to artificially recharge by making it pass through an intervening layer,
the aquifer acts as:

(A) A cooling agent (B) An aerating agent
(C) An odour agent .A filter plant
Pick the plutonic igneous rock.

.Granite (B) Limestone

(C) Basalt (D) Marble
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212. The mineral most abundantly present in the igneous rocks is:

(A) Micas (B) Titanium
(C) Iron @) Feidspar

213. What is the term given when some granules are exceptionally large and few are small?
(A) Mixed granular (B) Equigranular
.Inequigranular (D) Unequigranular

214. What is the texture called when large-sized crystals are embedded in fine grained matrix?
(A) Granitic texture (B) Poiklitic texture
.Porphyritic texture (D) Directive texture

215. What is it called when two or more minerals crystallize simultaneously in a limited space?
(A) Directive texture .Intergrowth texture
(C) Interstitial texture (D) Intergranular texture

216. The type of concordant body whose thickness is much smaller than its length and width is:
@)sin (B) Phacolith
(C) Dyke (D) Laccolith

217. The shape arch or dome is shown by which type of concordant body?
(A) Sills (B) Lopolith
@ Laccolith (D) Phacolith

218. The mineral present in green schist facies:
(A) Chlorite, Garnet, Albite, Orthopyroxene (B) Chlorite, Garnet, Albite, Epidote

.Chlorite, Actinolite, Albite, Epidote (D) Clinopyroxene, Garnet, Albite,
Orthopyroxene

219. The metamorphic process involving formation of new minerals by chemical replacement of pre-
existing minerals is:

(A) Metagenesis (B) Holomorphism
.Metasomatism (D) Homosomatism
220. Slate is originated from which rock?
(A) Sandstone (B) Granite
.Shale (D) Basalt
221. Examples of high grade schist are:
(A) Talc- schist .Garnet-schist
(C) Chlorite-schist (D) Mica-schist
222. The bauxite in India occurs primarily as:
@) Gibbsite (B) Kaolinite
(C) Shieldite (D) Karinite
223. The best grade chromite in India occurs in which state?
(A) Karnataka (B) Rajasthan
.Orissa (D) Kerala
224. Where is the Singhbhum copper belt located?
(A) Karnataka (B) Madhya Pradesh
(C) Sikkim @) sharkhand
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225.

226.

227.

228.

229.

230.

231.

232.

233.

234.

23S.

Hutti gold mines are located in which state of India?

.Karnataka (B) Madhya Pradesh
(C) Sikkim (D) Bihar

Which is the most common ore of lead?

(A) Sphalerite .Galena

(C) Chromite (D) Bauxite

The place in India where Tungsten is extracted is:

(A) Karnataka (B) Kerala

(O) Gujarat .Rajasthan

During which time period were the Banded iron-formations (BIF) the most significant?
(A) 3.9-3.6 Ga @)2.5-2.0 Ga

(C) 500-300 Ma (D) 4.0-3.7 Ga (110)
In what type of boreholes can the spontaneous potential log be used?
(A) Cased holes (B) Dry holes
.Open holes (D) Unstable holes

What are the three main techniques for measuring the electrical resistivity of formations in
boreholes?

(A) Normal log, Self-Potential log, and induction log

(B) Normal log, Self-Potential log, and laterolog

.Normal log, laterolog, and induction log

(D) Self-Potential log, laterolog, and induction log

What type of radiation does the neutron log measure?

(A) Alpha particles (B) Beta particles

(C) X-rays .Gamma rays

How does kerogen differ from bitumen?

(A) Kerogen is soluble, while bitumen is insoluble in petroleum solvents.

(B) Kerogen is younger than bitumen.

.Kerogen is insoluble, while bitumen is soluble in petroleum solvents.

(D) Kerogen is found in igneous rocks, while bitumen is found in sedimentary rocks.
What occurs during the phase of catagenesis in the maturation of kerogen?

(A) Kerogen remains unchanged.

(B) Kerogen transforms into bitumen.

.Kerogen matures and releases oil and gas.

(D) Kerogen converts into sedimentary rocks.

What role do folding and faulting play in the formation of structural traps of hydrocarbons?
(A) They deform the source rock. (B) They prevent the formation of hydrocarbons.
(C) They have no effect on trap formation. .They deform the reservoir rock.
What geological feature characterizes diapiric traps?

(A) Folding and faulting (B) Intrusive igneous activity
.Density contrasts between strata (D) Erosion patterns
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236.

237.

238.

239.

240.

241.

242.

243.

244.

245.

Which term best describes the tectonic setting of the petroliferous Cambay Basin?

(A) Subduction zone (B) Continental collision zone
.Intraplate setting (D) Transform fault zone

What type of reservoirs rock is found within the Olpad Formation (oil bearing)?
(A) Limestone reservoirs (B) Vuggy Limestone reservoirs
.Sand size Basalt fragment reservoirs (D) Shale reservoirs

What is the age of the reservoir rock in the Olpad Formation/Lower Cambay Shale (oil bearing)?
.Early Eocene (B) Late Pliocene

(C) Early Miocene (D) Late Miocene

What scale is used for qualitatively comparing earthquakes?

(A) Richter Scale .Mercalli Scale

(C) Gutenberg Scale (D) Seismic Scale

What are interplate earthquakes?

(A) Earthquakes caused by volcanic activity

(B) Near volcanic hotspots

.Earthquakes initiated near plate boundaries
(D) In continental interiors

What event led to increased awareness of the word “tsunami” among the general public, which
approximately killed 250000 people in December 26, 2004?

(A) Hurricane Katrina and tsunami (B) Typhoon Haiyan and tsunami
.Indian Ocean earthquake and tsunami (D) Fukushima nuclear disaster and tsunami
What is the main function of the seismographs in the tsunami warning system?
(A) Measure sea level changes

(B) Detect changes in water pressure

.Locate and determine the depth and magnitude of earthquakes

(D) Track the movement of buoys

How does drainage control contribute to landslide prevention?

(A) By creating permeable layers

(B) By increasing water infiltration into slopes

.By diverting surface and groundwater away from slopes

(D) By increasing water saturation

What does the Stefan”Boltzmann Law describe?

(A) The speed of light

.The total radiation emitted by a blackbody

(C) The behavior of magnetic fields

(D) The relationship between wavelength and frequency

Which statement best describes the comparison of solar and Earth radiation?
(A) Solar radiation is longer in wavelength than Earth radiation.

(B) Earth radiation is primarily in the visible spectrum.

.Solar radiation is predominantly short-wave, while Earth radiation is mainly long-wave.
(D) Earth emits more radiation than the Sun.
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246.

247.

248.

249.

250.

251.

252.

253.

254.

2585.

256.

Which gases contribute to the greenhouse effect?

(A) Oxygen and nitrogen (B) Carbon dioxide and oxygen
.Water vapor and methane (D) Helium and neon

What did Milutin Milankovitch hypothesize in the 1920s?

(A) The existence of gravitational waves

.The correlation between Earth’s orbit and climate change

(C) The formation of glacial valleys

(D) The discovery of greenhouse gases

How is the capillary rise in the capillary zone determined?

(A) By the weight of the water alone

(B) By the pressure difference between the water and the atmosphere

.By the equilibrium between surface tension of water and the weight of water raised
(D) By the density of the water

What term is used for a saturated geologic formation that cannot transmit significant quantities
of water under ordinary hydraulic gradients?

(A) Aquitard (B) Aquifer

@ Aquiclude (D) Aquifuge

Given a porosity of 0.22 and a dry bulk density of 1.95g/cm3, what is the particle density?
(A) 0.5 g/ecm?® (B) 1.5 g/cm?

(C) 2.0 g/em? @25 g/emd

In soil or rock, how is porosity defined?

(A) Ratio of water volume to total volume of soil or rock
.Ratio of void volume to total volume of soil or rock
(C) Ratio of solid volume to total volume of soil or rock
(D) Ratio of air volume to total volume of soil or rock

Which of the following subsystems is NOT major division of the global hydrologic cycle?

(A) Atmospheric water system (B) Surface water system

(C) Subsurface water system .Regional water system

In Darcy’s law, what factor is inversely proportional to the flow rate through porous media?
(A) Porosity (B) Viscosity

(C) Permeability .Length of the flow path

What does hydraulic conductivity measure in the context of fluid flow through porous media?
(A) Viscosity (B) Porosity

.Permeability (D) Flow rate

What criterion is commonly used to distinguish between laminar and turbulent flow in large
sections, such as pipes?

(A) Hydraulic gradient .Reynolds number

(C) Hydraulic conductivity (D) Darcy velocity

The hydraulic conductivity of a soil or rock is primarily influenced by which of the following?
(A) Chemical composition (B) Electrical conductivity

.Particle size (D) Surface area
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257.

258.

259.

260.

261.

262.

263.

264.

265.

266.

267.

How is hydraulic conductivity determined in laboratory settings?

(A) Permeability coefficient (B) Permeability index
.Permeameter (D) Porosity meter

What can be determined from pumping tests of wells?

(A) Density .Storage coefficients

(C) Porosity (D) Viscosity

Which of the following is NOT typically considered when selecting a method for constructing
wells?

(A) Purpose of the well (B) Quantity of water required
.Annual precipitation levels (D) Economic factors

What equipment is commonly used to construct bored wells?

(A) Hydraulic jacks (B) Rock crushers

.Earth augers (D) Excavators

Well-point systems are particularly advantageous for which purpose?
(A) Shallow groundwater exploration (B) Groundwater test
.Dewatering excavations for foundations (D) Deep groundwater exploration

What method is used to drill wells with a standard well-drilling rig, percussion tools, and a
bailer?

.Cable tool method (B) Rotary drilling method
(C) Sonic drilling method (D) Hydraulic fracturing method

Which portion of the electromagnetic spectrum enables the recording of differences in apparent
surface temperatures to obtain information on soil moisture, groundwater circulation, and faults?

(A) Ultraviolet imagery .Infrared imagery
(C) Microwave imagery (D) X-ray imagery

In geophysical surveys, what unit is commonly used to represent the resistivity of subsurface
materials?

(A) Ohm (U) (B) Siemens (S)
.Ohm—meter (Um) (D) Farad (F)

Which of the following statements is true regarding the depth penetration of seismic refraction
methods?

(A) They penetrate deeper than seismic reflection methods.
.They are limited to shallow depths.

(C) They are only applicable to surface geology.

(D) They are primarily used for oil exploration only.

Test drilling helps to obtain assurance of underground conditions prior to what activity?

(A) Groundwater extraction (B) Groundwater exploration

.Well drilling (D) Groundwater prospecting

What type of wells can natural gamma, gamma-gamma, and neutron logs be recorded in?
(A) Only cased wells (B) Only open-hole wells

.Both cased and open-hole wells (D) Wells with specific geological formations
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268.

269.

270.

271.

272.

273.

274.

275.

276.

2717.

278.

279.

In which situations can recharge wells be used?

(A) When there are permeable surface soils (B) When vadose zones are highly permeable
(C) When aquifers are shallow depth .When there are impermeable surface soils
What is conjunctive use in water resources management?

(A) Utilizing only surface water for irrigation

(B) Extracting groundwater without considering surface water availability
.Coordinated operation of both surface water and groundwater resources

(D) Conservation of water through storage in reservoirs

What do clays, metallic oxides, and organic matter has in common regarding sorption?

(A) They increase groundwater flow rates (B) They facilitate contaminant transport

.They serve as sorptive materials (D) They introduce pollutants into the
groundwater

What potential source of groundwater pollution is associated with the land disposal of solid
wastes?

.Leachate from landfills (B) Agricultural runoff

(C) Industrial emissions (D) Atmospheric deposition
What is the primary cause of hardness in groundwater?

(A) Presence of organic matter (B) Presence of Soap
.Presence of divalent metallic cations (D) Elevated pH levels

What term describes the region of significant damage during an earthquake?

(A) Epicenter (B) Hypocenter
.Meizoseismal region (D) Seismic zone
When did the Koyna earthquake occur?

(A) 1950 @) 1967

(C) 1985 (D) 1993

Where did the earthquake of September 30, 1993, occur?

(A) Koyna

(B) Jabalpur
.Near the village of Killari in Latur district

(D) Assam

What was the magnitude of the earthquake that struck near the village of Killari?
(A) 4.4 (B) 5.2

@o.4 (D) 8.6

Which of the following is NOT a widely used GIS package?

(A) ArcGIS (B) IDRISI

(C) SPANS @) Adobe Photoshop

What are the two fundamental components of geographical or spatial information?
(A) Topography and geology .Location and attribute character
(C) Latitude and longitude (D) Surface area and volume

What are the two basic types of data structures in GIS?
(A) Numeric and alphanumeric (B) Scalar and vector
.Vector and raster (D) Image and text
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280.

Which stage of the GIS process involves filling up vacant grid cells?

(A) Filling up .Interpolation
(C) Data input (D) Data collection
281. Which hardware component is used for inputting spatial data?
(A) Printer (B) Plotter
.Scanner (D) CPU
282. What is not another name for open tube piezometers?
(A) Open Chamber Piezometer (B) Porous Chamber Piezometer
.Hygro - Piezometer (D) Casagrande-type piezometers
283. How do open tube piezometers isolate the strata to be measured?
(A) By measuring air pressure changes .By using subsurface seals
(C) By monitoring soil moisture content (D) By assessing soil temperature
284. What is the purpose of using two tubes in twin-tube hydraulic piezometers?
(A) To increase the pressure measurement accuracy
.To circulate water through the system and remove trapped air
(C) To decrease the cost of installation
(D) To provide redundancy in case one tube fails
285. How pneumatic piezometers are typically constructed?
(A) With a single tube connected to a pressure gage
.With a porous filter and two tubes connected by a flexible diaphragm
(C) With a pneumatic pressure transducer and electrical wiring
(D) With a water-filled reservoir and pressure-sensitive membrane
286. How does the diaphragm of the vibrating wire Piezometer respond to applied pressure?
(A) It expands (B) It contracts
.It deflects (D) It remains unchanged
287. What statistical method is the Mann-Kendall test primarily used for?
(A) Parametric analysis .Non-parametric analysis
(C) Descriptive analysis (D) Predictive analysis
288. What type of data is the Mann-Kendall test commonly used to analyze?
(A) Categorical data (B) Cross-sectional data
.Time series data (D) Spatial data
289. What does the “MA” stand for in the ARIMA model?
(A) Mathematical Average (B) Mean Absolute
.Moving Average (D) Margin of Accuracy
290. How does Digital Water Level Recorders (DWLR) capture water level data?
(A) Manually (B) Quarterly
(C) Monthly .At the desired frequency
291. What is one of the objectives of groundwater level monitoring?
(A) To detect variations in soil pH levels
(B) Monitoring soil moisture content
.Detecting impact of groundwater recharge and abstractions
(D) Observing atmospheric pressure changes
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292,

293.

294.

295.

296.

297.

298.

299.

300.

What is the purpose of determining the (mean) highest and lowest water table positions?
(A) To assess pressure changes

.To compute groundwater resource availability

(C) To monitor changes in soil composition

(D) To observe variations in groundwater temperature

What is the purpose of sampling groundwater quality?

(A) To determine soil composition

(B) To assess groundwater resource availability

.To evaluate its suitability for various purposes

(D) To monitor changes in atmospheric humidity

What is the purpose of preparing a water table-contour map?

(A) To analyze water use (B) To assess soil moisture content

(C) To determine depth-to-water table .To visualize groundwater flow patterns

Which software package is specifically designed for the design and analysis of aquifer tests,
including pumping tests, step-drawdown tests, and slug tests?

@AQTESOLY (B) AquaChem

(C) Strater (D) WinLoG

Which of the following is a software tool commonly used for groundwater data analysis?

(A) Microsoft Excel (B) Adobe Photoshop

(C) MATLAB @) MoprFLow

Which software tool is specifically designed for spatiotemporal analysis of groundwater data?
@)Gwspar (B) AutoCAD

(C) SPSS (D) Adobe Illustrator

How do grains move during saltation?

(A) They move than the flow of fluid

(B) They roll continuously along the bed

.They tend to move in intermittent contact with the bed
(D) They move uniformly with the flow

What defines a turbidity current?

.Flowing downslope along the bottom of an ocean or lake
(B) Moving horizontally along the ocean floor

(C) Flowing upslope along the ocean surface

(D) Circulating vertically within the water column

What is the primary characteristic of hummocky cross-stratification?
(A) Concave-down cross-laminae

(B) Horizontal cross-laminae

.Concave-up and convex-up cross-laminae

(D) Vertical cross-laminae
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